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ENVIRONMENTAL STUDIES

(Honours & General)
For Science and Commerce
Time : 1 Hour Full Marks : 50

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |III|A |& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, the write :
1. — A

® There is no negative marking for wrong answer.
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Each question carries 2 marks

fel eioea e 2
1. Non-conventional source of energy is —
(A) Natural gas
(B) Atomic energy
(C) Coal
(D) Fire wood

> | SEblere =ifes T el —
(A) &FfeS o7
(B) ~elRs =ifes
(C) 3=l
(D) it <Flo

2. The magnitude scale of earthquake is —
(A) Moment magnitude Scale
(B) Richter Scale
(C) Mercalli Scale
(D) All of these

3| ORRT R STl AR (T —
(A) TG G (Fel
(B) f<bra ¢t
(C) et e
(D) TR
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3. Which of the following Gas present in highest percentage in air?
(A) O,
B) CO,
©) N,
(D) Air

© | ARCS FCECH @A AT TG ST A —
(A) O,
(B) CO,
©) N,

4. The word ecosystem was first coined by —
(A) Charles Darwin
(B) Isaac Newton
(C) Albert Einstein
(D) Lindeman

8 | AEOT =W LAY LACA FHT —
(A) DI TI0Ee
(B) SIZEHIF oI5
(C) SR SNZ=5ie
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5. Air Pollution caused by —
(A) Insecticides
(B) Sewage
(C) Loud Speaker
(D) Smoke

@ | AT PR —
(A) FoAmT
(B) (gL =l
(C) WiEs eIl

6. ‘Elephant Grass’ is found in which of the following biome —
(A) Tundra Biome
(B) Tropical Rain Forest Biome
(C) Taiga Biome

(D) Savanna Biome

b | ‘O T R T @I A —
(A) T AT

(B) GFmieT (224 (5 AN
(C) oM AT
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7. ‘Minamata disease’ caused due to pollution of —
(A) Mercury
(B) Lead
(C) Cadmium
(D) Arsenic

4| G @’ 28 @ R g @1 2 —
(A) ARV T Sl
(B) 31l 7R &y
(C) SRR vFCeR &l
(D) SN FACR Sy

8. The first disaster of nuclear reactor occurred at —
(A) Chernobyl
(B) T™MI-2
(C) Narora
(D) Trombay

v | 2oy feiEa [erfal wafte =1 @i
(A) oCAfe
(B) o wriz-2
(C) =
(D) §Tx
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9. The term ‘Biodiversity’ is introduced by which of the following?

5| ‘Bio-Diversity’ @3 *[(0 22w 2beT e i fofd 2rem —

(A) Haeckel

(B) A.G Tansley
(C) W.G Rosen
(D) None of these

(A) C2CPe

(B) «.f&. TremiceT

(C) Tg. f&. e
(D) THAEH GFGS e

10. What is the full form of WHO?

(A) World Health Organisation
(B) World Happy Organisation
(C) World Helic Organisation

(D) World Himul Organisation

so| ‘WHO’ &7 =l I 52

(A) AT (Ze1e SfiaiRrem
(B) 3@ Fifsl Sffizremia
(C) eafT (e Sfiaigrema
(D) exfT faxe Sffaizrema
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11. Dengu is infected by —
(A) Aedes aegypti
(B) Anopheles Stephensi
(C) Culex quinquefasciatus
(D) All of the above

SO | (OF FEN BT —
(A) @fes sE~6
(B) SOITAIGFCE™ (OLT

(C) PO SRAFCHIIAIZG!T

(D) Totaa SRaferz

12. Silent Valley Movement is founded in —
(A) Maharastra
(B) Nagaland
(C) Kerala
(D) Assam

S| BT Sifer St walfve 7w —
(A) T2
(B) «retletime
(C) (0=
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13. Causes of Bhupal Gas incident is —
(A) DDT
(B) MIC
(C) CFC
(D) BCA

59 | oAleT ST TG WCheet (@ PR —
A) BB
(B) @ =1ig B
(C) ™1 9z &
(D) & B @

14. Which one of the following is not a part of the same food chain —
(A) Frog
(B) Snake
(C) Insect

(D) Goat

58| f0oe (AT G2 AW XY TTYS T —
(A) T8
(B) ==t
(C) o=
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15. The energy flow in different levels of an ecosystem is called —

ve | Aoy [Afey B «ifes o1iesE 3o = —

(A) Bio-energetic
(B) Energy-biotics
(C) Bioenergies

(D) Eco-bioenergetics

(A) ATTGNTSOH

(B) «=ifet i

(C) AcNGITEr

(D) TCH ARG OH

16. Deforestation generally decreases —

(A) Rainfall
(B) Draught
(C) Global Warming

(D) Soil erosion

S | ey R g S mw —

(A) IS
(B) ¥t

(C) 9 T
(D) gl
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17. Chipko movement was originated in —
(A) Karnataka
(B) Uttar Pradesh
(C) Assam
(D) West Bengal

sa | oot SwieTeR \To@ﬂ Q(.?\ll(iﬂ —
(A) T
(B) Tesdm™
(C) SIS
(D) A5t

18. Measuring unit of noise pollution is —
(A) Kilobel
(B) Bel
(C) Centibel
(D) Decibel

St | X SATICAT 4P —
(A) RFeaEe
(B) (a1
(C) AfBeaet
(D) ORI
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19. Which of the following is a source of renewable energy?
(A) Thermal
(B) Petroleum
(C) Nuclear
(D) Solar
5o | ofaeae wifes Teals zren —
(A) wis=ife
(B) ¥fweites =fes
(C) A =
(D) CTeife

20. One of the following crops is the most effective in controlling soil erosion —
(A) Cotton
(B) Pigeon Pea
(C) Green Gram
(D) Maize

20| NHa @S @I *Prl AT w1 FRRe @ i e
(A) T
(B) foifemm 21
(C) & &
(D) &%
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21. Intergovernmental Panel on Climate Change (IPCC) formed in the year —
(A) 1980
(B) 1988
(C) 1990
(D) 1999

35 | ‘Intergovernmental Panel on Climate Change’ (IPCC) 5If6® = @ AT —
(A) 1980
(B) 1988
(C) 1990
(D) 1999

22. The term ‘black box model’ is used for the study of —
(A) Environmental Science
(B) Ecosystem
(C) Biological Science
(D) None of these

23| PP I AT *G (@ Kl = AL IS ©f 7 —
(A) =il
(B) Trgoq
(ORNiE
(D) 9afer @IeAIbE T
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23. The amount of Solar energy which is received by earth, is used in the process
of photosynthesis.

(A) 0.01%
B) 0.1%
©) 1%
D) 10%
29| 7 (AT AREITe @ AR SEARTE SNET OF T * Ol AR
TS T —
(A) 0.01%
B) 0.1%
©) 1%
(D) 10%

24. The Earth Summit Organized in —
(A) 1972
(B) 1982
(C) 1992
(D) 1997

38 | A A WS =H—
(A) 1972
(B) 1982
(C) 1992
(D) 1997
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25. Maximum density of water is at —
(A) 4°C
(B) 0°C
(C) 100°C
(D) 272°C

3¢ | SCER A Ty T —
(A) 4°C
(B) 0°C
(C) 100°C
(D) 272°C

(15)



